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QUESTION 1

Which edition of DB2 LUW has been discontinued in v11.1?
A. DB2 Developer Edition

B. DB2 Express Server Edition

C. DB2 Enterprise Server Edition

D. DB2 Connect Enterprise Server Edition

Correct Answer: B

QUESTION 2

A portion of your database tables are used for OLTP-type processing and another portion are used for more analytical
queries. There is a small subset of tables that are used in both of these usage patterns. What could you use to derive
the analytic improvements offered by BLU technology in such an environment?

A. Shadow tables

B. Range-partitioned tables

C. Materialized query tables

D. Multidimensional clustering tables

Correct Answer: A

QUESTION 3

Which of the following statements will successfully create a table that scores index data in a different table space than
the table data?

A. CREATE TABLE t1 (c1 INT, c2 INT);

B. CREATE TABLE t1 (c1 INT, c2 INT) IN TS1 INDEX IN TS2;

C. CREATE TABLE t1 (c1 INT, c2 INT) IN TS1 INDEX IN TS1;

D. CREATE TABLE t1 (c1 INT, c2 INT) DATA IN TS1 INDEX IN TS2;

Correct Answer: B
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QUESTION 4

Consider the following sequence of events:

Eddie grants SELECT WITH GRANT OPTION privilege to Mike.

Mike grants SELECT privilege to Jeff.

Eddie revokes SELECT privilege from Mike.

What will happen to Jeff\\'s SELECT privilege?

A. Jeff\\'s SELECT privilege will be revoked

B. Jeff\\'s SELECT privilege will be retained

C. Jeff\\'s SELECT privilege will be retained only if he has ACCESSCTRL authority

D. Jeff\\'s SELECT privilege will be retained only if Eddie has ACCESSCTRL authority

Correct Answer: A

QUESTION 5

Which isolation level will allow application A to immediately read the committed value of a row that is exclusively locked
by application B?

A. Read Stability

B. Cursor Stability

C. Repeatable Read

D. Cursor Stability with WAIT FOR OUTCOME clause

Correct Answer: A

Read stability (RS) locks only those rows that an application retrieves within a unit of work. It ensures that any qualifying

row read during a unit of work is not changed by other application processes until the unit of work completes, and that
any row changed by another application process is not read until the change is committed by that process
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